
 

813RH 

818185 

884 

813LB 

MV AGUSTA F3 
BRUTALE 800 

 2017 -  
REVERSE SHIFTING 

Part Nr. 5500 
 

M8 x 40 DIN7991 

+ 123200508 
+ 550D 

+ 123201008 

8181351 

887 

M8 x 40 

DIN7991 + 

123202008 

M6 x 20 DIN7380 
+ 123120306 

+ 816L 

M8 x 20  

DIN912 

+ 807Z 

M8 x 35 DIN912 

+ 807Z 

M6 x 12 

DIN7991 

M6 x 12 

DIN7991 

M8 x 20 

DIN 7991 

M8 x 20 

DIN7991 

810R + 

M6 x 25 DIN7991 

 

M6 x 20 DIN7380 

+ 816R  
M8 x 30  

DIN6921  

550M 8850 

M8 x 35 

DIN6921 

M6 x 16 DIN7380 

+ 816L  

M8 DIN9021 + 2x 

between 550L 

and 5501 

 

5501 

M6 x 16 DIN7380 

+ 816R  

M6 x 16 DIN7380 

+ 816R  

8330 

M6 x 16 DIN7380 

+ 816L  

M8 x 50 DIN6921 

+ 123201708 
818185 

5503 


